Extra challenges:
(please submit your work, send it to folder projects)
1. Divisibility by 3.

A number is divisible by 3 if the sum of its digits is divisible by 3. Write a program that checks if a   four digit number entered by the user is divisible by 3 by finding the sum of its digits and then checking if the sum of the digits is divisible by 3.
       2. Deficient, Perfect, and Abundant

Write a program that repeatedly reads a positive integer, determines if the integer is deficient, perfect, or abundant, and outputs the number along with its classification. A positive integer, n, is said to be perfect if the sum of its proper divisors equals the number itself. (Proper divisors include 1 but not the number itself.  For example 6 is a perfect integer because its divisors are 1, 2 and 3 and the sum of them is 6).  If this sum is less that n (the number), the number is deficient, and if the sum is greater than n, the number is abundant. 

      3. A company wants to transmit data over the telephone, but they are concerned that their data are tapped. All of their data are transmitted as four-digit integers. They have asked you to write a program that encrypts their data so that it can be transmitted more securely. Your program should read a four digit integer and encrypt it as follows: Replace each digit by (the sum of that digit plus 7) modulus 10. Then, swap the first digit with the third, swap the second digit with the fourth and print the encrypted integer. 
4. Who is in the middle?

In the story Goldilocks and the Three Bears, each bear had a bowl of porridge to eat while sitting at his/her favorite chair. What the story did not tell us is that Goldilocks moved the bowls around the table, so the bowls were not at the right seats anymore. The bowls can be sorted by weight with the lightest bowl being the Baby Bear’s  bowl, the medium bowl being the Mama Bear’s bowl and the heaviest bowl being the Papa’s Bear bowl. Write a program that reads in three weights and prints out the weight of mama Bear’s bowl. You may assume that all weights are positive integers less than 100.

Sample Input

10

5

8

Output for the Sample Input

       8

